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(iif) §+3=2 (iv) 373
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() S(x+1)=25 (i) 2Bx-=1=10
(i) 4(2-x)=8 (iv) 4(2+x)=8
Ja+ fe3 mitads 98 9|
() 4=5(x-2) (iy —4=5(x-2)
(i 4+5(p-1)=34 (iv) 6y—1=2y+1

() x=23 HI g9 J¢ 3 AHlEES =76 |
(i) x=-23F ¥d ddv I¢ 3 Mlgas =G|

gofeasut yas :-

Had Tx +4=39,3x= ...

(@) 6 by 4 (c) 5 (d) 8
Aad 8m-8=563m=......

(@) —4 by =2 ©) =14 (d) 8

d5 fefunt &5 faost Afunr milaes 6+ x=—18 S AgAe st I 7
(@ 10 (k) -13 () -12 d) -16

10.

74 gifeg - Vi
ﬁa'a'% =14, 2+ 6= ......

() 62 (b —64 (¢) 16 ) —62

Hag fea Afamr € gare @9 3 wele '3 5 yuz Jer 7, 3 Qo Al fagst O ¢
(@) —4 b -2 © 2 d 4

Aae 5 & & Aues Afimr € fage 9 75tE 3t - 7 yug 3= 9, 3t 69 fyas
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:.'.'_!;I EXERCISE -4.3 |
— ...-- -

1. Solve each of the following equation.

(i) 6x+10=-2 (i) 2y-3=2
... @ ) 3x 2
(iir) —q' +3=2 (iv) ‘? = E
5 5 37
(v) 5 X= -5 (vi) 2x+ 5=7%
2.  Solve the following equation
(1) Sx+1)=25 (i) 283x-1)=10
(iii) 4(2-x)=8 (iv) 4(2+x)=8
3.  Solve the following equations :
(i) 4=5(x-2) (i) —4=5(x-2)
(iii) 4+5(p-1)=34 (v) 6y—=1=2y+1

4. (i) Construct 3 equations starting with x = 2
(if) Construct 3 equation starting with x = -2
Multiple Choice Questions :-

5. IM7x+4=39, then xis equal to

(i) 6 (in -4 (i) 5 (iv) 8
6. I 8m— 8 =56 then m is equal to

(i) -4 (i) -2 (iii) —14 (iv) 8
7. Which of the following number satisfies the equation -6 + x=-18 ?

(i) 10 (i) =13 (iify —12 (iv) 16

74 Mathematics - VII

x
8. If 5 =14, then the value of 2x + 6 is equal to.

() 62 (i) 64 (iii) 16 (hv) 62
9,  If 3 subtracted from twice a number is 5, then the number is

(i —4 (iiy -2 (iii) 2 (iv) 4
10. If 5 added to thrice an integer is -7, then the integer is

() -6 (ify =5 (iii) 4 (iv) 4

ADODI IFATIARM A CIMDI C EALIATIAKMMC TN ODAATISAL CITIHIATIAMS
Scanned with CamScanner



(-.--1
Ch-4 PEA> By
S5TOm B =Y 3575 4 'bfrzr%sryfr

’M’E Lclm.cp(ﬂcm ok Tﬂ ’
12/35”‘) 35 I qa i
—1
= Lx b3 E
//- Y 3 y,
N o3 —TTfe 1) 0~ 9 |
] ']x,é / S EKIGCE) = I - ‘5
— | Solve _each o T Pollning epeation:
T O Lxdio=-2
‘ | gx-—+/10 = -2 ;
5 Jo 4 Taraistes ok [ Thnns foaning 1o faem LS Jo RES) 4
/' 7 U U j«
6 = —2 —I° _ J’i
g = —12
— || «_{
= I A |
B z -
£'x e _2) JE

\'L;;’,’,BTZ},( Cheek): 2tz
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